
205

205
71

14082 140 117

15
8.
5

15
8.
5

15
8.
5

15
8.
5

96

37.5

10
2

M5x10              M6x45            

6020

327175

�������������
���

������
��������������

60

Fitting Instructions: 
SELECT Secret Pull Out Corner Unit RIGHT HAND www.questhardware.co.uk

01280 822062

CFS351
CFS353

CFS355
CFS357



205

205
71

M5x10                M6x45                 

140 82140117

15
8.
5

15
8.
5

15
8.
5

15
8.
5

96

37.5

10
2

60
20

327
175

M5x10               

�������������
���

������
��������������

60

Fitting Instructions: 
SELECT Secret Pull Out Corner Unit LEFT HAND www.questhardware.co.uk

01280 822062

CFS350
CFS352

CFS354
CFS356


